
AVAILABLE
YES



Your Local Dealer

Mounting

Technical

Physical

ofile (height) of fix

Color Part Number

ColorCoCololorr

Color Part Number

P  Number



316 S.S.  UL Ti MATE 75 SA-ICE
‘submersible through hull light’

ORDERING NUMBERS 
FLUSH - S00300-75-SA-ICE.  30 DEG - S00330-75-SA-ICE.  50 DEG -S00350-75-SA-1CE

WITH 120 (V3) / 230 (V2) VOLT BALLAST AND 150W (W2) OR 250W (V2,W1) WATT LAMP.

The UL Ti MATE 75 SA is serviced from inside the hull. 
Allow access for maintenance and space for ventilation.
Do not use the UL Ti MATE™ in dry-dock or out of water
Allow a minimum of 170mm behind the cable gland for 
lamp replacements on 150w and 150mm behind the.ignitor on 250w.

Do not attempt to remove the glass lens while afloat.
The projector must be correctly assembled with lid 
secured to the UL Ti MATE™  whilst afloat.              

OPERATIONAL CONDITIONS AND CONSIDERATIONS

120 & 230 VOLTAGE SUPPLY FOR 150 & 250
WATT ELECTRONIC BALLAST COMPLETE

WITH  ENCLOSURE . 

PLEASE REGISTER YOUR PRODUCT WARRANTY DIRECT TO     WWW,REGISTER-UWL.COM
FOR TECHNICAL INFORMATION PLEASE EMAIL T@UNDERWATERLIGHTS.COM

SALES, PRODUCT INFORMATION AND NEWS GO TO      WWW,UNDERWATERLIGHTS.COM
UL Ti MATE 75-SA-ICE-SS-H-14-10-2011

 

LENS FITTING INSTRUCTIONS
Check the glass landing surface is clean and apply a suitable silicone grease to the gaskets. Fit
the glass, gaskets and retaining ring as shown above. Hand tighten the screws with a 5mm  
“Allen key” making sure the glass retaining ring is square. Torque settings for all retaining
screws - Nm ( ft/lbs). Torque the screws in the sequence shown. Check the  ring again 
and re-torque the screws again to the same torque setting.

Part Description 75-SA Part No
1: Projector lid securing plate 00283-B
2: M6 Nut 93381
3: 'O' Ring 00108
4: Gasket NAF 00285-A
5: Connecting ring 00274-C
6: Lamp holder screw 00290
7: Lamp holder (250W) 91195
7: Lamp holder (150W) 91191
8: Reflector collar bush 00288-A
9: M4 Lock nut  93374
10: Lamp (250W) 91209
10: Lamp (150W) 91210
11: Reflector adjustment rod 00284
12: Reflector complete S91791
13: Gasket NAF 00285-A
14: AB2 Connecting ring 00503-75-A
15: Projector barrel 00101-C
16: Gasket NAF 000C07-B
30: Glass gaskets NAF 00286-A
31: Glass lens 00281
39: Body Flush (s.s) S00300-75 ICE
40: Body 50 deg (s.s.) S00350-75-B ICE
41: Body 30 deg (s.s.) S00330-75 ICE
42: Glass retaining ring 00304-ICE 75B
43: Cap head screws 93334

TM

150 & 250 watt

CABLE SPECIFICATION TO PROJECTOR
High tempereture (180C) silicone

screened three core. Cable diameter 9mm
PART NUMBER
S00111-180 EWKF 3G0,0.75

ELECTRICAL INFORMATION 
150 WATT Maximum distance between ballast and projector -10 meters
250 WATT Maximum distance between ballast and projector - 10 meters.
Ballast power 150 watt ballast 120/230 volt, running current 1.4/0.7.A
Ballast power 250 watt ballast 230 volt, running current 1.2.A

Ballast will not ignite a hot lamp. The ballast has a cycle of three atempts
to ignite the lamp then will wait for six minutes before repeating the cycle.

Ballast must be installed in dry space. Maximum ambient temperature 40C
DO NOT swich ballast on and off.

FLUSH

S00350-75 ICE (40)

S00300-75 ICE (39)

S00330-75 ICE (41)Part Description 75-SA Part No
22: Gland 92011
23: Projector cover 00102-E
24: Ballast 250 watt 230v S00820-V2 W1
24: Ballast 150 watt 230v S00800-V2W2
24: Ballast 150 watt 120v S00800-V3W2

Recommended Spares Part No
Lamp ( 250w = W1 ) 91209
Lamp ( 150w = W2 ) 91210
Glass with gaskets S00281-A

Ballast

UL Ti MATE™ to be fitted a minimumof 250mm below the yachts water 
line when loaded with 50% fuel and 50% freshwater onboard



ELECTRICAL INFORMATION 
150 WATT Maximum distance between ballast and projector -10meters
250 WATT Maximum distance between ballast and projector - 25 meters.
Ballast power 150 watt ballast 120/230 volt, running current 1.4/0.7.A
Ballast power 250 watt ballast 230 volt, running current 1.2.A
Ballast will not ignite a hot lamp. The ballast has a cycle of three atempts
to ignite the lamp then will wait for six minutes before repeating the cycle.

Ballast must be installed in dry space. Maximum ambient tmperature 40C
DO NOT switch ballast on and off.

5083 ALU    UL Ti MATE 75 SA
‘submersible through hull light’

ORDERING NUMBERS 
FLUSH - S00600-75-SA.  30 DEG - S00630-75-SA.  50 DEG - S00650-75-SA

WITH 120 (V3) / 230 (V2) VOLT BALLAST AND 150W (W2) OR 250W (V2,W1) WATT LAMP.

The UL Ti MATE 75 SA is serviced from inside the hull. 
Allow access for maintenance and space for ventilation.
Do not use the UL Ti MATE™ in dry-dock or out of water
Allow a minimum of 170mm behind the cable gland for

.....lamp replacements on 150w and 150mm behind the.ignitor

.....on 250w
UL Ti MATE™ to be fitted 250mm below the yachts water 
line when loaded with 50% fuel and 50% freshwater onboard.

Do not attempt to remove the glass lens while afloat.
The projector must be correctly assembled with lid 
secured to the UL Ti MATE™  whilst afloat.              

OPERATIONAL CONDITIONS AND CONSIDERATIONS

150  WATT ELECTRONIC BALLAST COMPLETE
WITH  ENCLOSURE.  SEE

BALLAST SHEET FOR FURTHER INFORMATION

PLEASE REGISTER YOUR PRODUCT WARRANTY DIRECT TO     WWW,REGISTER-UWL.COM
FOR TECHNICAL INFORMATION PLEASE EMAIL T@UNDERWATERLIGHTS.COM

SALES, PRODUCT INFORMATION AND NEWS GO TO      WWW,UNDERWATERLIGHTS.COM
UL Ti MATE 75-SA-ALU-H-14-10-2011

 

LENS FITTING INSTRUCTIONS
Check the glass landing surface is clean and apply a suitable silicone grease to the gaskets. Fit
the glass, gaskets and retaining ring as shown above. Hand tighten the screws with a 5mm  
“Allen key” making sure the glass retaining ring is square. Torque settings for all retaining
screws -  Nm ( .  ft/lbs). Torque the screws in the sequence shown. Check the ring again 
and re-torque the screws again to the same torque setting.

Recommended Spares Part No
Lamp ( 250w = W1 ) 91209
Lamp ( 150w = W2 ) 91210
Glass with gaskets S00281-A

Ballast S00801-V2/V3

Part Description 75-SA Part No
1: Projector lid securing plate 00283-B
2: M6 Nut 93381
3: 'O' Ring 00108
4: Gasket NAF 00285-A
5: Connecting ring 00274-C
6: Lamp holder screw 00290
7: Lamp holder (250W) 91195
7: Lamp holder (150W) 91191
8: Reflector collar bush 00288-A
9: M4 Lock nut  93374
10: Lamp (250W) 91209
10: Lamp (150W) 91210
11: Reflector adjustment rod 002842-
12: Reflector complete S91791
13: Gasket NAF 00285-A
14: AB2 Connecting ring 00503-75A
15: Projector barrel 00101-D
16: Gasket NAF 000C07-B
30: Glass gaskets NAF 00286-A
31: Glass lens 00281
39: Body Flush (alu) S00600-75
40: Body 50 deg (alu) S00650-75-B
41: Body 30 deg (alu) S00630-75
42: Glass retaining ring 00604-75-B
43: Cap head screws 93460-SC

Part Description 75-SA Part No
22: Gland 92010
23: Projector cover 00102-E
24: Ballast 250 watt S00820-V2W1
24: Ballast 150 watt 230v S00800-V2W2
24: Ballast 150 watt 120v S00800-V3W2

TM

150-250 watt

CABLE SPECIFICATION TO PROJECT
High temp silicone three core part 
number. S00111

FLUSH

S00600-75

S00650-75

S00650-75



UL Ti MATE 75 SA
‘submersible through hull light’

OPERATIONAL CONDITIONS AND CONSIDERATIONS

PLEASE REGISTER YOUR PRODUCT WARRANTY DIRECT TO     WWW,REGISTER-UWL.COM
FOR TECHNICAL INFORMATION PLEASE EMAIL T@UNDERWATERLIGHTS.COM

SALES, PRODUCT INFORMATION AND NEWS GO TO      WWW,UNDERWATERLIGHTS.COM
UL Ti MATE 75-SA PROJECTOR INSTALLATION-26-02-09

LENS FITTING INSTRUCTIONS
Check the glass landing surface is clean and apply a suitable silicone
grease to the gaskets. Fit the glass, gaskets and retaining ring as shown
above. Hand tighten the screws with a 5mm “Allen key” making sure the
glass retaining ring is square. Torque settings for all retaining  screws - 
10 Nm (7.5 ft/lbs). Torque the screws in the sequence shown. Check the 
ring again and re-torque the screws again to the same torque setting.

TM

INSTALLATION OF PROJECTOR UNIT:
Unscrew the M6 nuts (position 4) and remove the projector lid with the SA assembly from the projector barrel.
Using a suitable silicone grease coat the gasket and threads and screw the projector body tightly onto the insert.
The projector body does not need to be removed for lamp maintainance.
LAMP CHANGE:
Unscrew the M6 nuts (position 4) and remove the projector lid with the SA assembly from the projector barrel.
Undo the two lamp holder screws (position 1),remove the lamp and lamp holder (position 2) from the SA assembly.
Remove the lamp from the holder and fit new lamp. DO not touch the new lamp with bare fingers. Return the
lamp holder to the SA assembly and slide it back into the Projector barrel. Replace the projector lid ensuring that
the rods (position 3) are tight and fitted into projector lid. Make sure that the M6 nuts are tight. 
REFLECTOR AND LAMP ADJUSTMENT:
See Beam Adjustment and Lux specification sheet and for more information visit our web site.

Aluminium Stainless Steel



DESIGN, INSTALLATION AND OPERATION OF THE 
UL Ti MATE 75 SA

BASIC CRITERIA
All weld-ins must have a minimum depth of 250-300mm below a waterline based on a loading of
50% fuel and 50% freshwater. They can be used to a  maximum depth of 150 metres.
Spacing of the weld-ins: stern - 1.5 to 2.5 metres:  port or starboard - 2.0 to 6.0 metres.
Angle of the weld-in light beam to the waterline:  15-20 degree.  There are three different angled
weld-ins available to maintain a constant waterline angle (CWLA). A sudden change in the CWLA
will look like an installation error. Keep the CWLA as constant as possible.

UL Ti MATE POSITION
From the yacht’s general arrangement drawing first mark the positions where it is not possible to
fit the weld-in and then work about those areas.

Mirror lines
GENERAL ARRANGEMENT DRAWING

A line of weld-ins should be mirrored around its centre line (see above).
Using transverse frame drawings predict the largest waterline angle that will occur on the yacht
with a 50° Insert. 

TRANSOM-LONGITUDINAL SECTIONS TRANSVERSE SECTIONS

��������������

��	�
���


��	�
���


������	������
�
��
���
�

���
��

���
�������	���	�������	�
�������
��
��
�
����������������	���
�
�	�������
���

�
 !"# 

����	

	�����	
����



WELDING INSTRUCTION FOR THE UL Ti MATE 75 SA
THE UL Ti MATE 75 SA INSTALLATION (Steel and aluminium hulls)
The UL Ti MATE 75 SA welding procedures shown are typical for most installations and are for
guidance purposes only.  Always use a certified welder and a fire watch when welding. Protect all
threads against welding, grinding and painting.

≥ 

5083 WELDING PROCEDURE



UL Ti MATE 75 SAUL Ti MATE 130 SA
S00475 - For composite hulls 

UL Ti MATE 75 SA
50 DEGREEUL Ti MATE 75 SA

30 DEGREE

65°

(lux)(lux)

150 WATT
    LAMP

250 WATT
    LAMP

2000
1100
710
480
430
300

4000
2000
1100
710
480
430
300

220
350
420
630
900
1100

220
350
420
630
900
1100
1900 12 meters

5 meters

(lux)(lux)

150 WATT
    LAMP

250 WATT
    LAMP

2000
1100
710
480
430
300

4000
2000
1100
710
480
430
300

220
350
420
630
900
1100

220
350
420
630
900
1100
1900 12 meters

5 meters

100° 12 meters

5 meters

77°

(lux)(lux)

150 WATT
    LAMP

250 WATT
    LAMP

2000
1100
710
480
430
300

4000
2000
1100
710
480
430
300

220
350
420
630
900
1100

220
350
420
630
900
1100
1900

BEAM AND ANGLE ADJUSTMENT  INFORMATION
MAXIMUM DIRECTIONAL

ADJUSTMENT 20 DEGREES
TIGHT BEAM ANGLE

LAMP IS ADJUSTED BACK
WIDE BEAM ANGLE

LAMP IS ADJUSTED FORWARD



Ballast and Projector Lid 
Cable Connection and Operational Information

BALLAST INSTALLATION AND OPERATIONAL INFORMATION




